>>   t = 0:0.001:0.6;

             x = sin(2 * pi * 50 * t) + sin(2 * pi * 120 * t);

             y = x + 2 * randn(size(t));

             plot(y(1:50)), grid

>>
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>>  Y = fft(y, 512);

              Pyy = Y.*conj(Y)/512;

              f = 1000 * (0:255)/512;

              figure(2), plot(f, Pyy(1:256)), grid

>>
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>>  t = 0:0.001:0.6;

             x = sin(2*pi*50*t) + sin(2*pi*120*t);

             y1 = x + 2*randn(size(t));

             y2 = x + 2*randn(size(t));

             y = [y1; y2];

             plot(y(1, 1:50)), hold on, plot(y(2, 1:50)), grid, hold off

>>
[image: image3.png]



>> Y = fft2(y, 2, 512);

             Pyy = Y.*conj(Y)/512;

             f = 1000*(0:255)/512;

             figure(2), plot(f, Pyy(1:256)), grid

>>
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